(Sheet73 SUBTRACTION PROBLEMS2  73)

Fill in the boxes.

®

8 less than 16 equals . 18 minus 6
Subtract 13 from 20 to leave X 1T minus 3
13 take 7 is . 15 minus 5
9is fewer than 17. 20 minus 11
12 subtract 9 equals 3 14 minus 9
14 taken away from 19 is ; 17 minus 6

Take 50 away from 66 to leave : The difference between:
88 subtract 27 is : 75 and 16 is
is 8 less than 31. 27 and 9 Is
78 equals minus 40. 30 and 54 is
62 take 14 equals - 69 and 24 is ;
7 fewer than 94 is . 55 and 6 is

C

80 minus 37 equals i The difference between:
Take 47 from 82 to leave ! 92 and 64 is
20 less than 112 is : 820 and 300 is
771 subtract 55 leaves : 95 and 28 is
is 80 fewer than 750. 500 and 40 is
29 taken away from 100 is ; 72 and 36 is




